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void sort_points( int count )

{
for(int i=0; i<count; i++)
for(int j=i+1; j<count; j++)
{
if( points[i].y > points[j].y )
{
POINTS3 pp = points[i];
points[i] = points[j];
points[j] = pp;
}
}
}
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int chull( int pos, int n, PPOLY &h)
{

int n1,n2;

PPOLY hi;



PPOLY h2;

iftn<4)

{
MessageBox( NULL, "Hi A\ ) s/ 41, "B %", MB_OK);
return -1;

¥

if(n==4)

{
h = new( POLY );
all_polys[polys_count++] = h;
tetrahull( pos, h);

¥

else

{
nl=n/2;
nl=nl-nl%4;
n2=n-nl;
if( (chull( pos, n1, h1) < 0) || (chull( pos + n1,n2, h2)<0))

return -1;

h = new( POLY);
all_polys[polys_count++] = h;
merge_3d( h1, h2, h);

¥

return O;
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void tetrahull( int pos, PPOLY h)

{
PEDGE edges = new EDGE[6];

all_edges[edges_count].e = edges;



all_edges[edges_count++].count = 6;
PPOINT3 p = new POINT3[4];
all_points[points_count++] = p;
make_tetra_edges( pos, p, edges );

tetra_hull_2d( edges, p, h);
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void merge_2d( PPOLY pa, PPOLY pb, PPOLY *pnew,
PEDGE *redge, PEDGE *ledge,

PEDGE *par, PEDGE *pbr)

PEDGE pal;
PEDGE pbl;

BOOL backmoved;

*redge = new EDGE;

(*redge)->v1 = new VERTEX;
(*redge)->v2 = new VERTEX;
*ledge = new EDGE;

(*ledge)->v1 = new VERTEX;
(*ledge)->v2 = new VERTEX;
all_edges[edges_count].e = *redge;
all_edges[edges_count++].count = 1;
all_edges[edges_count].e = *ledge;

all_edges[edges_count++].count = 1;

*par = pa->rit2d,;
*pbr = pb->rit2d;

if( abs_eq( pa->rit2d->v1->v->x, pb->rit2d->v1->v->x ) )



(*pnew)->rit2d = *par;
else if( pa->rit2d->v1->v->x < pb->rit2d->v1->v->x )
{
sup_line_fwd( par, pbr, &backmoved );
if( backmoved )
(*pnew)->rit2d = pb->rit2d;
else

(*pnew)->rit2d = *redge;

}
else
{
sup_line_bwd( pbr, par );
(*pnew)->rit2d = pa->rit2d,;
¥

link_edge_2d( *redge, (*pbr)->bwd2d, *par );

pal = pa->lef2d;
pbl = pb->lef2d;
if(abs_eq( pa->lef2d->v1->v->x, pb->lef2d->v1->v->x ))
(*pnew)->lef2d = pbl;
else if( pa->lef2d->v1->v->x < pb->lef2d->v1->v->x )
{
sup_line_fwd( &pbl, &pal, &backmoved );
if( backmoved )
(*pnew)->lef2d = pa->lef2d;
else

(*pnew)->lef2d = *ledge;

else



sup_line_bwd( &pal, &pbl );
(*pnew)->lef2d = pbh->lef2d;

}
link_edge_2d( *ledge, pal->bwd2d, pbl );

if( (*redge)->v1->v == (*ledge)->v2->v )
re_link_2d( *ledge, *redge );

if( (*redge)->v2->v == (*ledge)->v1->V)
re_link_2d( *redge, *ledge );

if( (*pnew)->rit2d->v1->v == (*ledge)->v1->v )
(*pnew)->rit2d = *ledge;

if( (*pnew)->lef2d->v1->v == (*redge)->v1->v )

(*pnew)->lef2d = *ledge;
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void merge_3d( PPOLY p1, PPOLY p2, PPOLY px)

{

PPOINT3 c;
PEDGE ecurr, erit, elef, ear, ebr, elbest,
e2best,oldebest, enext;

double cotl, cot2;

merge_2d( pl, p2, &px, &erit, &elef, &ear, &ebr );
ecurr = erit;
elbest = ear;

e2best = ebr;



¢ = new POINTS3;

all_points[points_count++] = c;

make_ref _pt(c, ecurr);

rev_edge( ecurr);

first_edge( RIGHT, c, ecurr, &e2best, &cot2 );

first_edge( LEFT, c, ecurr, &elbest, &cotl );

do

{

best_edge( LEFT, c, ecurr, &elbest, &cotl );

best_edge( RIGHT, c, ecurr, &e2best, &cot2 );

if( cotl < cot2)

{

else

link_edge( &enext, elbest->v2->v, ecurr->v2->v,
NULL, elbest, ecurr, NULL, elef, erit);

ecurr->v1->nedgelef = elbest;

ecurr->v2->nedgerit = enext;

oldebest = elbest;

elbest = elbest->v2->nedgelef;

oldebest->v2->nedgelef = enext;

oldebest->v1->nedgerit = ecurr;

¢ = oldebest->v1->v;

link_edge( &enext, ecurr->v1->v, e2best->v2->v,
NULL, ecurr, e2best, NULL, elef, erit);

ecurr->v1->nedgelef = enext;

ecurr->v2->nedgerit = e2best;

oldebest = e2best;



e2best = e2best->v2->nedgerit;
oldebest->v1->nedgelef = ecurr;
oldebest->v2->nedgerit = enext;
¢ = oldebest->v1->v;
}
ecurr = enext;
Jwhile( ecurr 1= erit);
rev_edge( erit);

re_align_edges( erit);
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int HUll3D( int count, PFACE faces , PPOINT3 *p)
{

edges_count = 0;

points_count = 0;

polys_count = 0;

add_points( count );

sort_points( count );

PPOLY h = NULL,;

if( chull( 0, count,h) <0)

return -1,

int face_count = 0;

list_face( h, faces, &face_count);

free_mem();

*p = points;

return face_count;
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